AR s

Gl 7 e, | =
] i 31 = = 2 . I
R . o ; i e - ! 5 |
=== Inters _
i 3'. ' 1\'@'" my e — e I ¢ R Sl i Pk, 1 |

(12§

e
3
':F-.

&

=0

N



FROFILE

The unique profile of SGB’s Mkll Soldier, with the pattern
of diamond shaped holes and stiffening ribs is the result of
an g:_q:_l;:anm computer analysis which determined the best

WIDE PRADUCT RARKGE

SGB's extensive range of high quality Soldiers and
accessorles has evolved as a result of long established
1 working relationships with Building and Civil Engineering
‘The adaptability of the system allows the contractor to
use an economical system suitable for all types of temporary
- works, ranging from Wall Formwork and Heavy Duty Shoring
‘to more diverse applications such as Mobile Gantries and
L CORTIRUED DEVELCERERT
| ' The design of structures has become increasingly
& complex, To complement this trend in construction, i
8l temporary works musst be adaptable to the contractors needs |1
but remain economical.

The Mkil Soldier equipment range is already wide and
versatile, however, SGBE maintain a dedicated engineering
= development team which is constantly exploring designs
8 which will offer complimentary products to cope with today's

GALVARNLEED SOLDLER SYSTERL

SGE have, as part of their development programme,
implemented a plan to galvanise the complete Mkl Soldier
% % system, in a drive to offer the user better handling and
|

; appearance as well as improved durability.

B WORLDWIDE ACCEPTARCE

=" Through the 5GB Group's worldwide network, the MkII
Sdlnl_larmnhumatrhd. tested, and dependable
nyslnm For many years the Mkll Soldier system has

- / provided successful & innovative solutions on UK and

: H[g. J 4 International construction projects large & small.
. QUALITY ASSURED
SGB International is 1SO 9001 registered.

rame Applications
‘Soffit Formwork
Tie Equipment
CL 25 Bracket

Estimating Software

P



=

Mobile __
Gantries f|

= ol

.
Mﬁw T
P e

. ..»Arﬁ
==t =5 -

. Eaﬂ

F q..-_m.
LT




MKIl SOLDIER SYSTEM SOLDIER DETAILS

¥
;
.

SGB has the widest range of Soldier sizes on the market to allow the user to obtain any length
requirement necessary. All are standard stock and are available at all of our locations. —

S
) PLAN
__w | ONEND i —+—] SOLDIER
1 L PR g DETAIL
g 3 ] A
| B - fe 4| p a4l 1 o
i HES S _/. ;
P01 ¥
| iy (] + | {_” I y
) EE e f v il
% | ¥ 1 A
[ = I et
‘ i .m = Ty ! ; %
5. STIFFENER VA |
| 4 DETAIL L | e~ eN i
| | 1 b e w B
Zl E LW - TP A
ST | o imm o
5 &1 n 50 Tanpar
% ray e bad
- Lo # requiemd
L | R - ) 3
CROSS SECTION P
e |
LENGTH {mm): 75 150 450 800 1125 1800 2700 3150 3600
| WEIGHT (kg): 5.7 7.2 B.9 11.7 21.5 25.4 37.4 55,2 62.6 T1.0
o] Painted CODE N*: 443010 443011 443009 443007 443008 343001 443002 443003 443004 443005 443006

Galvanised CODE N*: 443210 443211 443099 443097 443098 443091 443092 443093 443094 443095 443096

Y

SPECIFICATIONS /PROPERTIES JOINT TO JOINT CONNECTION
; Finish As Specified
m Weight,/m 20.8 kg/m Ta fix MKl Soldiers end ta

erad. Four M* M16 x 35 HT
C.S Area (Gross) 45 1d i sel sorew and nuts should be

C.5 Area (Avge) 22.52 cm2 used. f

T

A\

Max bending moment

E 206000  N/mm2 N
I 1578 cmé Code N°; 584233 e
Iyy 534.6 cmd Welght: 0.11kg w
| [ 9.99 cm =10 kMm. [
y 553 ., cm
| Minimum F.O.5. 2:1
| Axial Comp (Facade} < 300.0 kN
Axial Comp (Shore) = 100.0 kN
. Axial Tension 120.0 kM
End Reaction (see nate 2} 115.0 kN
] Centre Reaction (see nole 2) 115.0 KN
1 B. Mo (Hog) 38.0 kMNm JOINT REINFORCEMENT PLATE i
B oSl L Kb When it is necessary to
E: Moa ‘!Dm.“. e st increasa the capucit{- bending
B. Mo (Reinf joint) 15.0 khm moment at the joint of two &
Tie Load 95.0 kN soldiers. =1
i Shear (not less than) 75.0 kM ;?;Lgﬂr;:inéeﬁﬁisﬂefg;m*!lr&e “"R
| Shear at joint (nol less than) 75.0 kN bt MAE i i g;?ew v e P
Guidance notes nuts. ¥ [
1 Camp,/Tension loads may be limited by end =y

I attachment,/strut length. Painted Code N*: 4:,43023
2. Minimum bearing length 155mm {as Tie washer 4430-20) %Iﬂ;gahl!tl?g?:l?rgﬂk?gw : 443223
3. Weight excludes timber insert. (Additional weight apprax. i
Max bending momeant
Ligim) = 15 KN,
4, Thera is no reduction in the axial load at the joint. Jgint Reinfarcement Plate




MKIl SOLDIER SYSTEM

INTERNAL CORNER SOLDIER

Designed to be used in conjunction with the standard soldiers, they simplify the construction

of corners for wall shuttering. This allows ties to pass through in both A==Tgx
directions replacing two standard Soldiers. il I
Wl
_ 5§ | -
&l &0 & | 1 {
L g |l 1 ¥
R F——H LI T HH
= [ Mg |l
o g
u — wog 2
El._.... El | 1;3 &
= 2 & .| y
PLAN 5| & 8 -
L-F| 2|
= 2 £ s s
Sy o5 | [Tl e &
- £ L
=T | T ry 3 —Hl & I
- [ ¥ : 2| | | g & . i
i -F— = H {mwn| T ] =TT
A 2] g |
— v T H B |5 5 H =1 T = i
- S s Il g s Il & | g
. "ir 14 hole throug g = — i
bt waks
END DETAIL LENGTH {mm): 200 1125 1800 2700 3150 3600
WEIGHT (kg): 19.00 241 38.0 56.6 66.3 75.4
Painted
CODE N°: 443055 443054 443053 443052 443051 443050
Galvanised
CODE N°: 443255 443254 443253 443252 443251 443250
Typical Application
40 - S~ R

I0INT TO JOINT °

CONNECTION
— M12 x 75 Bolt and Nut
Code N*: 443060 w
Weight: 0.45kg ]
Washer Plate — Washar Piaia
CODE N*: 443061 50 80 & 40 x 5mm
WALING CLAMP
o Migx 120 Used for connecting
/ SGB Dual Walings to
ﬂ/‘/_.‘lil v I:.“:\\..,_h the corner Soldier.
N i e LS __|____’_
g - }L_ Code N*: 443062
" = Weight: 0.58Kg

— 25 %34 x 100mm Long

{50 i 50)

BM - 9.26 KNm
El - 262 KN/m2
Max. Tie Load - 50 KN

Specifications/
Properties




-

MKIl SOLDIER SYSTEM

STANDARD COMPONENTS

A full range of accessories is auaiiaiﬁlé to adapt the
All accessories are standard stock and available at

available for Hire or Sale throughout the UK.

Mkll Soldier System to suit any work requirement.
all SGB Formwork locations. All items shown are

SWL 20kt

LIFTING BRACKET
Balted to the top of Soldiers,
to provide facilities for [ifing

RIGHT ANGLE CONNECTOR
Uzed to fix Soldiers end to
and at right angles.

TN b erane. A minimum of two
per form should be used. Painted Code N*: 443047
Galvanised Code N°: 443247
Welght: 11.2kg

4 x N* M16 x 35 HT st
screw and nuts per Soldier
end are required.

Painted Code N™: 443015
Galvanlsed Code N°: 443080
Welght: 2.0kg

4 % MN® M16 x 35 HT set
sorew and nuts are required.

FORKHEAD SOLDIER BRACING COUPLER

Forkheads can be used in Jé%;ﬂfﬁ Fixed 1o the Soldiar, these
place of the Head/Base Plate - provide a coupler for the

attachment of scaffold tube,
raquired when lacing and
bracing is to be attached for
applications such as free

and will suppart MEKI
Soldiers, timbers or steel
heams up to 170mm wide.

Painted Code N° 443018 Wi standing falsawork.
| Galvanised Code N": 443218 :
Welght: 4.8kg .25 Painted Code N: 443035
1 % N® M12 » 80 HT bolt & :IT ;_“E Galvanised Code N°: 443235
salf locking nut {optional). o Welpght: 3.9kg
h—hid — (AN IAD
s = TUBULAR SHERING ADAPTER ( WALING CLIP )
[ Bolts to the end of a Soldier, to | | I';‘ h|. Used as an alternative
| . provide adjustment in fised steps. | f'l il method to attach standard

Overall height varies from 405-645mm scaffold tube to & Soldier.

S in B0mm increments and in conjunction
with the Threaded Shoring Adapter, it
! s usable in most shoring applications.
-} Painted Code N°: 443037

“-~/f;n Galvanised Code N°: 443079
Welght: 12.95kg
4 N® M16 x 35 HT set screw nuts
(Grade 8.8) required.

Code N°: 445500
Weight: 0.6kg

i wariGar
EG Y ERE

W

THREADING SHORING ADAPTER

Balied to the end of a Seldier, this
attachment provides a screw threaded fine
adjustment range of 150mm to 475mm.

FORM JACK

Primarily uged to laval a form,
they can be used harizantal ly
as a plumbing device,

A& minimum af two jacks are
Palnted Code N*: 443038 required per formside.
Galvanized Code N°: 443238
Weight: 8.5kg

A M M1E x 35 HT zet sorew & nuts
(Grade 8.8) required.

MNormal Relnforced [Special
Max. Comp:  1O0KN 100kM  order)

_ Painted Code N°: 443016

L Galvanised Code N°: 4432186
Weight: 4.3kg

2 ME M1G x 45 HT set screw
and nuts are required.

Rarga Minmum = 14 mm T,
Range Maximum = 225 mm

Max. Tension:  SOKN BOkN Pange]

HEAD/BASE PLATE

Uszed to spread the Inad at the
top or bottom of a shore, these
can be bolted o the end of the
Shoring Adaptors.

Painted Code N*: 443022
Galvanlsed Code N°: 443084
Walght: 3.2kg

1 M® M12 2z 80 HT bolt & self
lpcking nut {optional).

SwWi may be limited by other
campanents,

SUPPORT PLATE

Whera it is necessary to give
additicnal support to the walings
and form face on crane handled
forms, these can be bolted to the
bottam of the Soldiers, They should
be fitted on the soldiers to which
the lifting brackets are attached.
Painted Code N°: 443019
Galvanlsed Code N°: 443083

»  Welght: 3.81kg

2gw 2 N® M16 x 35 HT set screw and
nuts are reguirad.

For loadings
refer Lo your
looal SGB
Formmwark =™
design office. ™ 7




MKIl SOLDIER SYSTEM

STANDARD COMPONENTS

HOP UP BRACKET

Dasignad to support 3
scaffeld boards plus 1
toeboard, camplete with a
spigot 1o locate a guardpost.
The Hop Up Bracket can be
fixed at any of the bolt holes
between the diamond holes.

Painted Code N°: 443017
Galvanised Code N®: 443081
Weight: 5.6kg

1 N® M16 x 90 HT bolt & nut
Is required.

SOLDIER SHEAR CONNECTOR
Can be used 1o join a Soldier at
right angles without any reduction
in shear loading. Can be used for
T example to fit Soldiers or Sharing
Adaptors,

Safe Shear load = 10 kN

Painted Code N°: 443070
Galvanised Code N°: 443270
Weight: T7.0kg

2 N* M1B x 90 HT bolt & nuts to
connect nta the Soldier, and 4 N°
M16 HT nuts for threaded studs

Fer loading details contact your
nearest SGE design office.

MULTIWAY CONMECTOR
Enables the Soldiers ta be
erected as a three dimensional
frame, allowing Saldiers to be
connected on either axis for a
single or double Soldier,

Painted Code N°: 443029
Galvanised Code N": 443089
Welght: 25.0kg

4 N® M1E x 35 HT set soraw &
nuts (grade 8.8) par Soldier
end are required.

: PUSH PULL BRACKET
= Used to give a positive
connecticn for up to 3 Shoring
Adaptors to Scldiers either
herizontally, vertically or
diagonally.

Palnted Code N®: 443027

T Galvanised Code N°: 443077
217 }asT ) P Weight: 13.0kg

1 M® M24 x 90 HT bolt & nut
{grade 8.8} per Shoring Adaptor,

For loading details contact wour local 5GE Formwork design office.

577/ BET mm

MULTISHORE FIXED PIVOT

Fart of the Ultra Loading
components, It can be usad whare
it is necessary 1o incorporate
sloping levels either at the base ar
i head of & shore. Fixed directly to &
T A Multishore swivel jack,

SWL = 200kM

Painted Code N": 4430143
Galvanised Code N°: 443214
Weight: 20kg

4 N7 M1& x 35 HT set screw & nuts
(grade 8.8) per end are raquired,

S0KN Sl
T

TENSION ERACE

SWL A Byailable in 3 sizes,
40kN . pravided for light and easily
};E-nflﬂn erected frame bracing.

Mot available in the UK,

A

“ Length Palnted

Code N°

a) 4.5-5.5m 443044

ol b} 3.754.75m 443045 443245 11.50kg

& c) 2.5-3.5m 443048 4432468 6.20kg
2 N M6 x 90 HT Nut & bolt are required,

Galvanised Welght
Code N°
443244 15.10kg

TR
SNl

SHORIMG
ADAPTER

wes gzaninG FLaTE HD PUSH/PULL PROP ADAPTER
' U=zed in conjunction with Web
vEE L Bearing Plates, it provides a
\gf;g{ strong connection to Soldiers
it lasrg and develops the {0l load
,f:"" potential of the share in tension
A

. ."( + of Camaression,

Palnted Code W*: 443025
Galvanised Code N*: 443085

!
L
Ry -

WEE BEARING PLATE

2 are required to clamp the HD
Push/Pull Prop Adaptar ta the
Soldier at the diamend hale
position.

. Painted Code N°: 443026
Galvanised Code N°: 443086
Weight: 0.6kg
2 " M12 x BO HT bolt & nuts

o Weight: 6.8kg : per two W.B. Plates are
fird 2 NTM24 % 90 HT boit & nuts : required.
i are required, = i I
- L= ko n N
SWIVEL SHORING BASE MULTISHORE SWIVEL JACK

Designed for bolting 1o a suitable
foundation, used In conjunction with
the Shoring Adapters. When shores
are at an inclined angle. Can be
bolted 10 the Shoring Adapiors.

SWL may be limited by ather
components.
Painted Code N*: 443024
Galvanised Code N°: 443087
Welght: 5.0kg

S 1 N® M24 x 90 HT bolt & nuts
{grade B.8) is required.

I V AnS

Designed for use where very
heawvy loads are required to be
supperted. Provides ovarall
adjustment from 350 to 485mm

SWL = 320KN

Painted Code N°: 443013
Galvanised Code N°; 443213
Welght: 20kg

4 N® M16 x 50 HT set scraw &
nuts (grade 8.8} par end are
required,

I
S




alial e e T

. = L

i S

[~ ==y

MKIl SOLDIER SYSTEM

STANDARD COMPONENTS

TIMBER WALING CLAMP
Usad with the J Balt to fix
timber walings to the

Soldier.

. Code N°: 443123
' Weight: 0.34hg

Vs “ A~ yeor
A R Code N*: 443124
1/ Weight: 0.45kg

UNIVERSAL CLAMP
Used to fix 5150 Dual
walings to Soldier ar
Soldier to Soldier
fixing.

Code N": 443036
Weight: 0.60kg

UNIVERSAL
ANCHOR CLAMP
Uzed to fix Dual
T150 beams ta
Soldiers,

Code N°*: T17606
Welght: 0.31kg

WEDGE CLAMP
= Can be used to fix

-1 3150 walings to the
+ Soldier where & quick
fastening is required.
4 This item should not
< be used for crane
handled farms.

Code N°: 715690
Weight: 0.34kg

SWIVEL CONNECTOR
& multifunction component that is fixed

\*_./;/’ to twia ends of Soldiers that can after
A the angle betweon 59-180°
. ol A
] A ' i S B2 Painted Code N°: 443071
g HAORN R e T / Galvanised Code N°: 443271
= Y B - Weight: 6.1kg
[ A 4 M M1E x 35 HT set screw & nuts
[ ABS {grade B.8) per Soldier end arg
L | required,
[ STABILISER SOLDIER BRACE/WHEEL
?g 2t Easily attached to the base of CONNECTOR )
i Saldiers they provide a means This item has two functions:
aies of plumbing and stabilising TORN_~
Al the form for extra zafety, 7 i
£ il used on one side anly the 1. It can be bolted to the
i/ base must be anchored 1o the Seldier and can )
__;’5“_? B E ground to prevent uplift. 4 accommodate a Sharing
;f*" 4f | 4, minimum of {wo per form Is y = \ Adapter,
), [ required and high farms may =
Vi i require additional strutting, =) / \\
i e
W ‘.t WS painted Code N°: 443021 A A
I el wmam  Galvanised Code N°: 443221 i | e e
J T dEm Weight: 21.50kg i -
74 S 2 NTML6 x 90 HT bolt & nuts ~J ST
i ahe fequired, o' 2, The MKIl Soldier
& P A system can be made

STEEL WALING CLAMP
Used 1o fix 3G steel channel
walings to the MK Soldiar,

Code N 443113
~_ Welght: 0.28kg

e 7 | *This item is not
G |/ | available in the LK,

mobile by fiking a wheel
of & maximum of 48 &
150,

Painted

Code N°: 443072
Galvanised

Code N°; 4343272
Welght: 9.0kg

2 N® M16 x 20 HT bolt &
nuts required. [Wheel to
be quoted separately.)

Wheel

el TAARIMLIM WHEEL
SIZE a8 x S50

Code N*: 343073
Weight: 6.0kg




MKII SOLDIER SYSTEM

STANDARD COMPONENTS

CIRCULAR FORMWORK

EDGE ANGLE
= Bolts to the plywood and
i gccommaodates the Fork Arms.

Painted Galvanlsed Weight
Code N°  Code N°

444004 444304 16.00kg
434011 444311  23.00kg
434003 444303 35.00kg
H 444002 444302 39.00kg
3.6m 444001 444301 47.00kg
M0 x 40 HT =q hex screws & nuts,

Hﬂ FORK ARM

2 sizes (inner & auter) sit in
the spigots of the Edge Angles
and fix to the Turnbuckles.

Painted Galvanised

Code N* Code N* Welght
Inner 444006 444306 2.0kg
outer 444005 444305 4.0kg
1 N®, W10 x 7O HT Hex bolt & nut.

o

TURNBUCKLE

Standard & Short
Eﬁﬁ lengths cover the full
4 | range of radii. These are
connected across the
Fork Arms-and when
adiusted (by extending
or retrecting the =crew)
they fliex the form 1o the
required radius.

- 2¥ Painted Galvanised Weight:
i Code N°: Code N*:

Standard: 444009 444305 18.0ke

Short: 444010 444310  10.0ke

2 N° M10 x T0 HT Hex bolt & nut are reguired .

D

STIFFENING BRACE

Is uzed to brace the
turnbuckla ta prevent bowing.,
Clamps 1o tha Turnbuckle
using a standard Double
Coupler.

Fixes inte the bolt hole in the
Soldier using nut & ball.

Painted Code N°: 434007
Galvanised Code N": 444307
Weight: 2.80kg

1 N" MLG x 7S HT Hex,

L bolt & nut i5 required,

MKIlI SOLDIER SYSTEM NUT AND BOLT COMPONENTS
CODE N°s DESCRIPTION APPLICATION(S)
584201 Coach Screw 50. HD. M10x60 HT Fixing timber batten to Soldier
584202 Mut and Bolt CSK. M10x40 HT Plywood to Edge Angle
FB4203 Mut and Bolt CSK M10x60 HT Fixing timber batien to Soldier (Alternative)
584204 Mut and Bolt M10x70 HT Fixing Turnbuckie to Fork Arm
584205 CSK Screw and Nut M12x30 HT Fixing plywood to timber batten
aB4207 Bolt and Mut M12x20 HT Forkhead or Base/Head Plate to
Shoring Adapters.
Also fixing Web B. PIt.
584211 Screw and Nut M16x45 HT Form Jack to Soldier fixing
584220 Nut and Bolt M16x30 HT Soldier Shear Connector,
Stabiliser, Soldier Brace Connector
584233 Bolt and Nut M16 x 35 HT Soldier to Soldier, Soldier to
Shoring Adapters ete.
BB4235 Bolt and Nut M24x80 HT Hd PP Prop Adaptor, Swivel Base Plate
584250 Mut and Bolt M12x260 HT Fizing Soldier to MKIl Forkhead




= SRR

——§

MKIl SOLDIER SYSTEM WALLFORMWORK

Probébly the }nus'{-pc;ﬁula-r use of the Mkll Soldier system is as a wall shutter. Used with either the

contractor's timber or SGB's $150 or T150 DU-AL Aluminium Beams the system provides an
economical and versatile forming system.

PLY FACE SCAFFOLD EEAFFCILE TUBE

TIMBER WALING Suppliedby  BOARDS HANDRAI
e UMIVERSAL CLAMP LIFTING BRACKET Supplled
coniracior UNIVERSAL ANCHOR CLAMP
x TIMBER WALING CLAMP
Feg
. ;
TOE
— BOARD
CLIP
HOP UP
BRACKET
T150 TIE SYSTEM
WALING
FORM JACH,

STEEL . =~ SUPPORT PLATE

WALTNG _— N !

Mot Available \

in the LK. - HD PUSH/ " \

. %
PROP ADAPTOR \\ STABILISER
R “al
SHORING ADAPTO , -~
: THREADED SHORING
U~ ADAPTOR
FIXING DOWN DETAIL &
Iustration Purposes Only MH 11 RAKING SHORE SWIVEL BASE PLATE
WALLFORMWORK CORNER DETAILS

4 I8, 5107 B d =
SOLDER - 1
SUPPOHE -, |
APrET !

| ;
"u, -Ll-‘_\__\_h ""_i ﬁ(;’ﬁ e THI R WEDCLE

p SOLEORS

DUAL Stop End Soldier Support Bracket must b used with TL50 beams.



WALLFORMWORK

STOP END DETAILS

To assist SGB's customers in a working scheme, included below are some typical solutions for
creating stop ends.

DU-AL Stop End Seldier Support Bracketl must b2 used with DUAL TIS0 beams,

WALLFORMWORK COMPATIBLE TIE SYSTEMS

SGB MkIl Soldiers will accommodate most tie systems which have a suitable safe working load. SGB
offers a choice of 2 tie systems recommended for use with the Mkll Soldier.

TUF TIE HEAVY DUTY SYSTEM

Undoubtedly the most popular and economic tie system
methed in use today, Theze reusable ties are available with
a complete range of accessories,

The 15mm dizmeter rod has a safie working load of 95.5KN.
The Z20mm diametar rod has a safe working load of 1G65KM,
Mote: maximum tie load on MK Soldier = T15KN.

Both benefit from a robust self cleaning thread, with a
safety factor of 2:1 against yvield.

WILLIAMSFORM SHE BOLT SYSTEM

A reliable and tested solution that achieves
consideranle economy. It is very easy ta install and
particularly suitable for water retaining structures,
The system offers a range of SHE BOLT and tie
[angths 1o actommodate different form widths,
complete with all accessaories,

For fuller details please refer to the 'TIE' section.




WALLFORMWORK DESIGN DATA

SAFE WORKING LOADS FOR PLYWOOD FORMWORK FOR WALL FORMWORK APPLICATIONS

Allowable pressure for plywood (kM/m?) /E_\" =
19mm Douglas Fir, 5,6 or 7 sanded ply 18.5mm thick, face grain parallel to span. { Sl :;)

o

WALLFORM APPLICATION

SPACING (mm) PLYWOOD

75mm BEARING

O 203 |92 | 244 | %71 | 305 | 348 | 406 | 488 | 610 || PROPERTIES
BENDING | 1249|1044 | 86.4 | 700 | 553 | 425 | 31.2 | 216 | 138 || 0.489 kNm
SHEAR 118.6 | 1010 | 862 | 73.0 | 61.2 | 50.9 | 41.4 | 328 | 25.0 || 6.TOkN

El = 3.26kNm*
DEFLECTION 218.6 | 167.2 | 1259 | 91.9 | 64.4 | 43.4 273 | 157 | 80 || couiinng
MAX ALLOWABLE kN/m2| 118.6 | 101.0 :| 86.2 | 70.0 | 55.3 | 42.5 | 27.3 | 157 | 8.0

SPACING (mm) PLYWOOD

203 222 244 271 308 348 406 488 610 PROPERTIES

S0mm BEARING

BENDING 1249 (1044 | 864 | 7O.0 | 553 | 425 | 312 | 21.6 | 13.8 || 0.489 kNm
SHEAR 96.5 | 845 | 739 | 640 | 548 | 463 | 38.3 | 30.8 | 239 || 672 kN
El = 3.26kNm?
DEFLECTION 2186 | 167.2 | 1259 | 91.9 | 644 | 434 | 27.3 | 157 | 8.0 SPAN/270
MAX ALLOWABLE kN/m2| 96.5 | B4.5 | 73.2 | 64,0 | 54.8 | 425 | 27.3 | 157 | 8.0

NOTES: 3} Bearing widlh used = 75mm and E0mm.
1] Flgures abtainsd fram current Manufacturers data. 4] Mllowances made for Concrete Density = 24,5kN/m*
21 Calculations based upon Load Case S8 fram “Farmwork Deflection = 1/270th of span.

- & Guide to Good Practice™. B} Hatched ares Indicates criteria

S et 58
S

|
Rz an”

2

To enable
" easy striking
|| . ) of form faces

IFT = we recammend
using 5GB Chemical
release agent or SGB

Mould Qil. This gives excelient
release characteristics and
substantial reduction in blow
nholes and surface blemishes.
Available for Sale in 205 or 25
Litre capacities,

N




WALLFORMWORK DESIGN DATA

The use of Aluminium over timber has great advantages. Aluminium is lighter and stronger than
timber and therefore allows larger assemblies of formwork, which in turn reduces the labour cost of
fixing and erecting. SGB offers two types of Aluminium waling beam, the standard S150 for general
use, and the T150 which is a stronger section and ideal for use where the Soldier centres need to be
wider apart.

REQUIRED SOLDIER CENTRES FOR DU-AL S150 WALINGS

Concrate  \Waling Vertical Spacing {(mm)

Prosgurs

tki/sg.m) 175 200 225 250 R 300 325
] 1800 1800 1800 1800 1800 1800 1750
B0 1800 1800 1800 1800 1720 1550 1470
70 1800 1800 1800 1630 1490 1370 1270
80 1800 17ED iS50 1430 1310 1210 1120
a0 1800 1580 1420 1380 1170 1080 1000

For gpans exceading 1EDmm, conact SGB Technical Services for guidance.

S150 ALUMINIUM WALINGS PROPERTIES

Length Codde N* Welght Longth Coda N* Welght Moment of reslstance kNm  6.80 El

1.2 715212 4,80 51 Ti5251 20.40 Area cmP 11 98 § k.

18 J15218 7.20 57 T15257 22.80 Inertla xxem! 356 -

2.7 715227 10.80 6.4 T15264 25.60 Inertla YY cm* 43.764 !.

1.5 715236 14.40 7.2 715272 28,80 Saection Modulus Zxxem®  47.15 il

a3z 715243 16.80 Welght (kg/m) 3.24 ; el

Youngs Modulus N/mm* GRS00 e TEmm,
-l

REQUIRED SOLDIER CENTRES FOR DU-AL T150 WALINGS | RN | b’
Concrets Waling Vertical Spacing (mm] - _//-\\ .
Pressure | :
{kN/so.m) 175 200 225 250 278 300 325 350 adl \\\ Ak )
50 2500 2500 2500 2500 2500 2490 2420 2370 b
(=[] 2500 2500 2500 2430 24L0 2350 2390 2230
0 2500 2500 2450 2370 2300 2230 2170 2120
f=1v] 2E00 2440 2380 2270 2200 40 2080 2020
an 2450 2350 2360 2180 2120 2050 1940 1500
For spans exceeding 2500mm, contact 3GE Technical Services for geidance.

T150 ALLUMINILM WALINGS T |
Length  Code N* Welght Length  Code N°  Weight

1.2 717512 6.96 4.2 717542 2436 :"‘“‘““’::F“ Faabstanc K E'gg
13 717513 7.54 4.8 717548 27.84 In':;lz e sl
16 717516 9,28 5.0 717550 29.06 st Y s 1478
i3 717518 10.44 5.4 717554 3137 Section Modulus Zxxem' 7536
2.5 717526  14.55 6.4 TL7564 37.16 Welght (kg/m) 5.81
3.5 717536  20.92 7.2 717572 41.76 Youngs Modulus N/mm* 68900
is 717538 22.66

Important: In some world areas outside the UK, SGB
For details please contact SGB International,

REQUIRED SOLDIER CENTRES FOR TIMBER WALINGS™
i.l.':u_n;:r_ulc Tlmlltr-r_waling Vertical Saa-lcing imm) =

Pressure  Size

thM/a0.m)  [mem) 175 200 225 250 275 300 325 3sn |
50 I50KTE 1800 1620 1590 151 1440 1380 1320 1260

[0} 150u75 1540 1540 1450 1380 1310 1230 1140 1060

T 150675 1520 1420 1340 1260 1150 1060 250 820

18] 1E0TS 1420 1330 1230 1130 1020 G40 BTO 820

a0 15075 1340 1230 1100 1000 910 E40 780 T30
Thit walings nhine been considered continuous over THREE spans. Timoer properties for Grade 564 have bepn Empayed in accoercancs sith

“Formwark - A Guide te-Good Praciice.” Concrebe Sociaty/institution af Structural Engineers

*5GE does not supply timber. The above figures should be used as a guide only.




GUIDE TO WALLFORM CONSTRUCTION

The design is checked A WORKING DRAWING is than
by the client as a correct  issued by SGB Formwork to
interpretaiton of allow erection of Formwork on
requirements. the job site,

The SGE KKIl Soldizrs, Dual Waling Beams and
Formwork  Anclllary components such as tie-rods and
equipment arrives Flastic Slesving eto,
on site In  The client will provida M16 & M12
bundles. spanrers plus a hammer for nailing the ply,

Tha MHKII Soldlers are  Fitting cut is best done on aven
spaced to the ground. If this I= not possible,
required centres  scaffold beards should be laid down
ready to receive the to provide a common leval for the
waling members. Soldiers.

To ensure that the A
walings edges line up, it it is impartant ta
Is good practice to fix a chieck that the Scidiers are
length of string between still parallel to each other, and the

the top and bottom  watings are at right angles to
walings at both ends, the Soldiers.

MNote: At this stape

The DU-AL walings Walings should be spaced at the
are now fixed to appropriate centres as specified in the
the Soldlers using  design supplisd, The Univarsal Clamps are
Universal Clamps, positioned above and below the waling at
glternate positions.

‘ﬂ,.]
The Plywood s lald  This is the most straight forward mathod of
out with the edges laving out the plywood but will require the
flush with the form ends to be tapad, to prevent any grout
DU-AL wallngs. loss during pouring.




SGE MKII SOLDIER DUAL WALLFORM ERECTION GUIDE

Tie holes This is done by lining up tha

may now centres of the MKI Soldier. top See, = L
Plywood is laid out '_I'he I:_a:.'nut should be : be marked and bottom, with a piece of string =
with a 50mm offset, identical on forms butting on the or a straight edge. A 16mm dia o 1%
both ends. against each ather, plyface. hole can then be drilled., S

i

B

(A

T
s

gy

_;,-

Lu
T

i

i
XA
o

I

Mkl WALLFORM COMPLETE
Subject to the site reguirements, the different
anciltary components may be added.

b

The formwork is then ready for use,




]

MKII SOLDIER SYSTEM CIRCULAR FORMWORK

The SGB CIRCULAR FORMWORK SYSTEM eliminates the need for special curved walings by flexing
the plywood form face to the required radius. The minimum recommended radius is 2m using the
appropriate plywoods.

INMER | TURNBLUCHKLE

-

FORK ARM gil. 3! ik

OUTER / o |

FORK ARM
k! "-_:I. . i lll = "-.‘:_-:3
/ . -\ STIFFENING
il BRACE
EDGE ANGLE .
lliustration Purposes only
5
CIRCULAR FORMWORK COMPONENTS

FORK ARM
Painted Galvanised Weight
Code N° Code N° He
Duter 444005 444305 4.0
Inner 444006 444306 2.0

TURNBUCKLE
Painted Galvanised Welght
Code N® Code N® kg
Standard 444009 444309  18.0
Short 444010 444310 2 10.0

STIFFENING BRACE 7 /3/

Painted Galvanised Weight //// ?/

Code N° Code N° kg =

444007 444307 2,80 & ;/
EDGE ANGLE f/{ g
Length  Painted Galvanised Weight -.:;-"

Code N* Code N° kg
1.2m 444004 444304 16.00 ///

1.8m 444011 444311 23.00 ¥
27m 444003 444303 35.00 /iﬂ’
3.0m 444002 444302 39.00
3.6m 444001 444301 47.00 /{?
Ll

/




CIRCULAR FORMWORK MULTIPLE FORMS & SPECIAL ARRANGEMENTS

TIME SAVING FOR CURVING SEVERAL PANELS

Tiow oy v wl

-~,- ) |
' . N &N

Where several formwork assemblies are to be curved, a with curve template. When the formwork assembly is
curving ‘bed’ can be assembled 1o simplify the process. lowered anto this bed. Its selfwelght will pull it into the
Lay a minimum of 5§ soldiers on the ground, linked with required curve as the turnbuckles are adjusted.

scaffold tubes to prevent lateral movement, Bolt timber Alternatively, a bed may be assembled from scrap plywood

firing pieces of apprapriate height into soldiers and check and timber framing on-site.

MINIMUM BENDING RADII FOR PLYWOOD SCHEDULE OF BOLTS
| Thickness of Plywood 6.5mm 9mm | 13mm | 16mm | 19mm
not exceeding: |
Direction of bend 15m |24m  3.6m |4.8m | 7.0m HenEien Usa 2on
parreliel 1o 10 x 907 countersunk Fising continuous timbar
face grain | | . Suare hexagon [boll & nut) HT batten to soldier
EL:E;;‘E:;E;E_T 0.3m |18m  2.4m  3.6m | 4.8m MG x 40 80° countarsunk Fixing edge angles to
face grain : SHE.IEH(.‘K}'IEEH [screw & n'.flb HT_ plywood
- N 18x 35 Hexagon round Joining two 5hl.rtler units
| hexagen (belt & nut) KT Together
MIO x 7O Hexagon round Fixing fork arms into
T | hexagon (boft & nutl HT spigots of edge angles
E:I:f:;"':a";ﬂ'l’:‘fm % V' wirsction orbsn #10 x 7O Hexagon round Fixing Turnbuckies 1o fork
i pespendicular 1o grain face hexagon {bolt & nut) HT arms
BAL Bx TS Hexagon round Fising stiffening Draces 1o
hexagon (bolt & nut) HT soldiers
i3 (1

- Phvwoed sheet trimmed 1o account for diffarent arg
sl lengths (as shown on SGB Formwork drawling),

=== ‘ I.I'_ ’_,_r""'f Edge angle fixed to cut edge.
E—

‘ Where the curved wall is to slope, the farmwork
p (f panels can be tapered. It is not normally

el necessary to arrange the saldiers into a fan

[ pattern, lay them parallel as narmal (though they
‘ will mot align with the edpe angles). Edge angles
LLI Bed| Bl 1 1 will be fixed to the cut edge of the sheet,

‘ | See SGB design drawings for full details,




MKII SOLDIER SYSTEM VERTICAL SHORING

L _ =L

The SGB Mk| Suqlai'er in cnnjuncfinn with the sharing accessory components can be used as a back
prop or vertical shore. In this application, with this equipment, loading capacities of up to 100kN can
be sustained, at up to 10 metres. Standard scaffold tube can be used to brace towers for extra

stability. -
100
MAX SWL
1 PER SHORE
FORKHEAD I i} \
| B il THREADED
= = OR TUBULAR
i | SHORING
SCAFFOLD 1 Ll
. TUBE =
LACING AND
BRACING
==
IN TWO — /
DIRECTIONS i T
[WHEM
REQUIRED)
THREADED
OR TUBULAR
i SHORING
i /‘ o= ADAPTOR
BASE/HEAD /
u -

y PLATE 1
X | I lllustration Purposes only

THREADED SHORING ADAPTER
45

fa B L4

BASE/
HEAD PLATE

&75 Mmax

I 2 1
\ | Painted
Code N*: 443022
— | Galvan|sed
| -8 + s -, Code Nt 443084
— }\j— ) T T Weight: 3.2kg
__/ : Sk
50| Ppainted Code N°: 443038 _ 2. 2o FORKHEAD
Galvanised Code N™ 443238 PRgasx 01— | i
I

Welght: 8.5ke \ | | k.-
\ = ='m 1TE = i al

) " —] | F=]|

J | ﬂf | -1-5--1 i
Painted = i

|

TUBULAR SHORING ADAPTOR Code N°: 443018 u 'L |! H
Painted Code N°: 443037 Galvanised l_—_'., i

Galvanised Coda N°: 443079 Code N*: 443218 R [

L] Weight: 12.95kg Weight: 4.8kg T @13 Both Walls

7

&5 P | 565 / SB35 1 405 min

.-'IJ,»g.z;ﬂ SOLDIER BRACING COUPLER  Painted Code N°; 443035
! 35 E— Galvanised Code N°: 443235
| LT R Weight: 3.9kg
I = = = = | Vi i i -|
I} T u
i )8

R *\\:,\ =ae
e M — 1 im e E[

}
= = - - —_ [ |-
] qﬂ. L




HEIGHT/LEMGTH OF SHOBE (melres)

VERTICAL SHORING

0
]
8
T
i}
5
d
3
2
1

RAMGE

LOADING DATA

HEIGHT MAKE UP & LOADING

USING SOLDIERS AS A VERTICAL SHORE

SHORING &

AANGE SOLDIERS sowton | 5 | 2 [2E3|

2|8 a%s| &

zlele|lglgslagls E ElA o E% z

Mn M | S8 |2 |8B|R|2 |8 (EEIZE| % |2 |a38 =

g l|s | A e | % 252 g o

1178 | 1598 1 | - EEENENERE & 42.34
1558 | 2048 5 e I EE EIERERE: 8 5212
Tiag [ 2538 =] = |4 T i i i 8 5512
3008 | 2488 1 |1 | - | i e I e W i3 G423
Z73d | =vea| 1| = |1 | - ESEEENE iz EERE]
2358 | 2548 . === 2 s 1A E BBl
2663 | @173 - |1 [ 1 | - EEFENEEES G
F608 | 298] 1 | - - | 1 | EEEEEEEEED 80,22
33| 3e23) 1 | x [1 [ - | - S e 50,14
3358 | apas B 1 Sl E £ 2 84,80
3563 | 4072 =L : e T R O i 54,00
3808 | 4208 F 1 ] e o g 5337
40337 4523 3 - - 1 1 1 1 15 107.92
I55E | 474B - - T ] e ) B | 101E6
4483 | 4973| - it 1 = || X |4 | & | 47 (14078
7oA | 5108 1 2 = T e e O - T R T A
4933 | 5423 o [ 1 1| = [ % | ¥ | 12 [13936
5158 | 5548 i % . 1 1 1 1 i 12 123.55
5383 | 5873 i =[x 2 | 30 L |22 [13158
SE0E | G0es e = 1 111 [ | % |32 [3515
5833 | 6323 T S 1 |- |2 |1 |1 |1 16 [141.08
G053 | 6048 T [ T A | & |5 | X | 12 |19
5283 | 6773 T |t 1 |1 (2 |1 | T ] 16 |14946
B508 | B8998 . - - 1 1 - 1 1 1 1 12 145,93
5733 | 7223 T T 0= |4 | % [% | % | 16 |fon08
5958 | 7448 : ) = |4 T |2 |2 | | & | 12 |165682
7183 | 7673 1|1 ]|- 1|1 |1 |L |1 | 16 |16545
7408 | 7898 - | - T | & [f L2 [ 22 16400
7633 | B123 1 T = & | £ 2. & 15 | 173384
7EEB | B348 - 7 4 | &[4 L | 13 [15309
EDE3 | 8573 1l= 2] |7 [T [Z 1| & |[isz=s
B308 | B798 - | & | X[ 2= 2% |1 [T | & |is5ag
BG33 | ©023 = T2 |2 [ £ |2 ]% | t6 |i906t
B758 | 5248 N ERE i |1 |1 |& || 18 [18432
BGE3 | @a73 = 21 = 1=101 =12 [ &1& L & | 8 |[1598d
5208 | Sood = | = Tl = | % 1 [ 21 38 (2626
OGEE |10146| - | = | 2] - |2 [1-]1 | |1 [ i5 |2iDgs

MAX. ALLOWABLE LOAD IN SHORE (kN)

| |
| Vo | T
; ;\\?qem?ﬁ_ [ e |
: __.__E.._E | | e s A h i 1}
Fe= = I _""'"--:
| | | |
0 i 20 a0 4l =14 B0 70 a0 a0 100

*A MKIl Head & Basze Plate may be used

instead of the Forkhead.
== To secure either the Forkhead or

Head/Base Plate to the Shoring Adapters a

M12x80 HT bolt & nut may be used.

This graph shows the relationship between
the allowable loads and the height or length

of unbraced shores,




MKII SOLDIER SYSTEM INCLINED SHORING

The SGB Mkl Soldier inclined shore has a high load capacity of up to 90KN. This means that fewer shores
are required and considerable savings are therefore achieved in the cost of providing apropriate ground
anchorages. Suitable for all applications where a heavy duty shore is required, including supporting pre-
cast concrete units, walls of existing buildings during refurbishment and large wall or celumn shutters.,

PUSH PULL BRACKET WEB BEARING PLATES SWIVEL BASE PLATE
s= @ A, Eolas Q1A x 2 ] - @n I.’."L 123
~ 1 He. Holes D25 e 2) 15 1
4 1 =TT
| —a 1 3
B '
L ¢
1 = N, =4 HOLES 0B
Lz ; - -
A | =

Painted Code N°; 443027
Galvanised Code N°: 443077
Welght: 13.0kg

Painted
Code N°: 443026
Galvanised

Code N°: 443086
Weight:

T

TUBULAR

£ 0.6
A1 . SHORING :
4’—|-— ADAPTOR Weight: B5.0kg
4 S
i raml
S ™%
| p———— =3
N AT Y Y,

LY

Wy

SOLDIER BRACE
CONNECTOR
F- . . #
; =) L im —1 ; RIGHT ANGLE
o o G i o s HEAVY DUTYPUSH PULL - CONNECTOR
- i 5 ) PROP ADAPTOR
i ! alls
T —
a 3 L _ﬂ._,!
a2 0T T g
= £ ;
s = R
Painted
Code N": 443072 0% o4 i
Galvanised il e
Code N°: 443272 3 F i
Welght: 9.0kg A ; o
4 3 WASHTRS gt L Lt RS S
Painted Code N": 443025 Painted Code N°; 443047
Galvanized Code N°: 443085 GalvanisedCode N°: 443247
Waight: 6.Bkg Weight: 2kg




INCLINED SHORING HEIGHT MAKE UP & LOADING

T USING SOLDIERS AS A RAKING SHORE
; = 3
. SHORING | EMD | END [ @& = =B
s SQLRIERS ADAPTCR [oPTiONa|oPTIONZ| = 3| 2 &
=TT ; ”

g e (e | sl ElE|og0|288|%8E| 22
MIN |max |2 | F S| & |23 |86 z Z SEE E=“’ EGE ;__.‘E
s |a | - | & | o g8 a2 12 R
1078 | 1498| 2 | - | - | - 1| 1 1 1 g 33.68
@eE| 1048] - | 1 | - | - = 3 1 1 E EENH
3883 | 2i73] - | - |1 | - I [ 1 1 B a7.82
(AEiE| 2398 1 | 1 | - | - = 1 1 1 iz 55.08
[2iaa] 2629 1 | - |2 | - TTi|=t T 1 1z )
2358 | 2848] - | - | - | 1 = 1 1 1 B 5061
(2583|8013 - | 1 |1 | - | - A [ P 1 iz F0.71
{2818 | 3298] 1 | - | - | 1 T | 1 1 1 iz 71.62
9043 | 3523 1 | L |1 | - | - ] 1 1 iG EERE]
3268 3748) - | - | - | - | 1 T | T 1 1 B 7650
3893 | 2973 - | - | 1 = = Tt 1 o R B5.70
IErEEIsei= | = | = | = | - | 1 T 1 1 i B 54,64
Reg TR (== 5. - | - |- | -~ | 2. [ 1 T 1, 36 G062
e aee8, - | - | - | - |- | - | | T | 1 1 1= E 9336
L o S | I I I O I N 1 1 & | 1z | 10248
J: 3618 | 50%8] 1 | - == | o= | % ] 4 1 1 2 12 [ 10547
N s |- - |2 | - |1 | 1 1 1 8| 12 | 11086
& 5068 | 5548 - | T | IENEIENEE R 1 O I Bl R
N sraiSEaE=le= 1 | - | - | - [f& [T 1 1 1 8] 12 |11925
L2 5518 | 50G8| - - | N R ES E: 1 1o | 12 [13%45
by Sihs] o22s = | L pd | - = - N 1 N R T
R 5968 | 644s : ElEm= 1 & | E [ & 1 1 = | 16 | ial24
oy G193 | bois| - T = HE - 1 1 iE 1 15 12 14116
R 5218 | oeos i T [ N i 1 o7| 16 | 139.63
P4 [ ] | 1 1 1 = 1 1 1 i 27 12 | 14876
i 5865 | 7348 i 1 T |f | 1 1 1 E| 16 | 14B.02
S 7093 | 7513 = | 1§ I =1 e e 1 18 17 | 15745
P 7318 | 7198 :  EEHEREEE 1 1 16| 166.40
S 7543 | 8023 = | = §d L= pa | - |13 1 1 12 | 165,54
iy 7768 | B4 | S e ] 1 i 16 | 164.79
ci 7993 | Bar3| - T e e e e e 1 1 17 | 173.93
RN H3is | Boas el - 1% | 3 1 1 i | 17754
5 5443 | Boea 1 e 1 1 i | 18231
Ch T 5568 | D148 o v I T [ 1 1 i | 18502
o b B893 | 9373 = | - |5 ) =) =1 2 {41 | 2 T 1 16 | 180,70
"E Y 0115 | @508 - = = B3 1 1 1 1 18 | 18431
hes D563 10045 el pefeslesalem foa | 3 | 1 | 1 ] 16 | Doves
RANGE MEASURED FROM @ 25 HOLES IN
SHORING ADAFTORS TUBE OR THREADED

LOADING DATA

Foam e o s A B e
i Az :

A an s i o B a
Trvated Ao e e T 50

* -
EXAMPLE 1 o, e B
MHOWN AXIAL FOACE IN SHORE —e% HEAVY DUTY Pk PLLL FECS
s ADAPTOR
Fer A0 kN foree 1] g
hortpentaty iy Argie it o
apgted 1o 3
& shone PE J
i i .'_\ | 2
Ry 50 b4 el s o Thepanes ———— - o
i) gt
T [ =
) R = E
el i vk SWIVEL SRORG BASE
THE MESUATANT PRI FEGE AT SaH i
EXAMPLE 2 gt 1
MMOWN HARIZONTAL =
FOACE APPLIFD My argle €52 : E
g = & o
Far T kN mial o Ei
Toiod i & sho'e 5" L
at 36+ 5 T
& e, &)
AL X E =T
ol S o
I =
A 4 =
o & i
7 F it - il

" a0 e s0 e 70 B0 40
HORIZONTAL BEAGTION  {2kN)




MKIl SOLDIER SYSTEM ULTRA HEAVY DUTY SHORING

In certain circumstances, there is a requirement to support very high loadings. The normal option is
tn utilise more shores. This can be costly, both in terms of equipment and in the time taken to
prepare ground, erection and levelling. By utilising particular key components, standard Mkl Soldiers
can be used to take a safe working load of up to 32 tonnes.




ULTRA HEAVY DUTY SHORING

COMPONENTS

A5 i AES

MULTISHORE SWIVEL JACK

Provides adjustment in a range
fram 250 to 483mm for final
levelling,

SWL = J20KN

Painted Code N°: 443013
Galvanised Code N°: 443213
Weight: 20kg

4 M* M16 x 35 HT set screw and
nuts ara reqguired per Soldier end.

MULTISHORE PIVOT BASE

To accommadate sloping levalz in
either base or soffit conditians.

SWL = 200KN

Painted Code N*: 443014
Galvanised Code N°; 443214
Weight: 20kg

4 M* M1& x 35 HT set scraw and

nuts are required per Soldier end,

Only to be used with Mullishore
Swival Jachk.

. :JSF wh

MULTIWAY CONNECTOR

Allows Saldiers to be fixed & right
angles or next to each other to then
concentrate the foads to ane
Multishore Swivel Jack.

For loadings refer 1o your local SGB
Formwark design office.

Painted Code N*: 443029
Galvanised Code N°: 443089
Welght: 29.0kg

4 M* M16 x 35 HT set screw and
nuts are required per Soldier end.

“For technical or design

neargst SGB Formwork
Design Office.

enguiries pleass cantact your




[ B e

MKIl SOLDIER SYSTEM FRAME APPLICATIONS

Due to its effective design, the SGB MKl Soldier is also ideal as a structural member, complete with
a range of components. The system has been successfully used for frame structures ranging from
the facade support for refurbishment of multi storey buildings, to travelling gantries to move
formwork shutters.

| WEB BEARING PLATES

MOBILE
GANTRY

MULTIWAY CONNECTOR

L T B 1
‘.'q I‘1
- ™ TEMSION BRACE
J 4 "
i -, W—
qxi‘.‘l ":q, _._"“. - 3
*":: = [ f;f
stanoard ____— 41 [ CUSTOMER'S
WALLFORM o0 e KENTLEDGE
'-'E"-,': . 'L—-J- v
oA
o[ SOLDIER BRACE/

/ WHEEL COMMECTOR




FRAME APPLICATIONS

COMPONENTS

MULTIWAY CONNECTOR

The versatile Multiway Connector
enables the Soldiers to be erected as
a three dimensicnal frame, allowing
Soldiers 1o be connected on aither
axis for @ single or double Soldier,

Painted Code N°: 443029
Galvanlsed Code N°: 443089
Waight: 29.0kp

4 N* MLG x 35 HT set screw & nuts
per Soldier end are required,

- 285 . )
|67.6:85 a0 85 =75 -
] el bn
fd 25
rs' #\ 7 i’
Ll VBN A0
‘, A E1§ B3
E J.-’ == Bk
L T il
1 AT
.__"" . b il
110X 0u4
i )
—.}—!.—
A
WASHERS

S0LDIER BRACE/WHEEL
CONNECTOR

A dual purpose component used aither
with a wheel for creating a mobile
system or without the wheal, as a

connection for Shoring Adaptar bracing.

Painted Code N*: 443072
Galvanised Code N°: 443272
Weight: 9.0Kg

2 N M16 x 80 HT balt & nuts are
requirad,

_2 Mo, Holes
SDIBIER 5o Holes
C25 ix 2)
: —
|
il ]
i
g
1 o
T
=: 3

PUSH PULL BRACKET (COMPLETE)

Used to give a positive connaction for
up to 3 Mo Shoring Adaptors to
Soldiers either horizontally, vertically
or dizganally,

Painted Code N* 443027
Galvanised Code N°: 443077
Welght: 13.0kg

1 M* M24 x 90 HT bolt & nut
{grade 8.8) per Shoring Adaptar,

Wheel Code
N™: 443073
o0
i_‘:?.l —— : e_s_?'
— 1 HE —1" 1 T
i e g Em 2’ _@2s & Al
B e e el Lo T -1 L
| - === g FLu E 1 |
.[ it 2 mED g e
Thall = | 2 S s m S
=== =¥
0 £ e e o S| K i ! el
= i,_i : o il
RIGHT ANGLE CONNECTOR THREADED SHORING ADAPTOR SWIVEL CONNECTOR

Uszed for fixing Seldiers end to end at
right angles.

Painted Code N* 443047
Galvanlsed Code N°: 443247
Welght: 11.2kg

4 Mo, M16 x 35 HT set screw & nuts
per Soldier end.

Used for fine adjustment of forms,
praviding an adjustment of 150mm
ta 473mm.

Painted Code N* 443038
Galvanised Code N°; 443238
Weight: B.5kg

4 N*M16G x 35 HT set screw & nuts
are required.

Fixed to the ends of two Soldiers to
provide & hinge mechanism with an
angle range from S9-180°,

Painted Code No 443071
Galvanised Code N®: 443271
Weight: 6.1kg

4 M7 M16x35 HT set seraw & nuts
per Seldier end.

For technical or design enquiries please contact your nearest 5GE Formwark design office,




E MKIl SOLDIER SYSTEM SOFFIT APPLICATIONS

g Construction of bridges
and parapets often

requires the area

beneath the structure

to remain operative.

For example railway

lines or roadways.

A successful temporary

works solution must be

5 able to create the form
required and maintain

safe clearances.

Through the use of its
MKl Soldier System
SGB offers a variety of
alternatives to cater for
various construction
technigues.

Sucgessful on many
major construction
projects, 3GE are
experts in resolving the
difficulties public work
construction can
sometimes pose.

For technical or design enguirizs please contacl your neasest SGE Formwork design affics.




SOFFIT APPLICATIONS

BRIDGE DECK ALTERNATIVES

PRECAST DECK SOLUTION
SCAFFOLD S150 WALINGS
TUBE. GUARD / . )
-4 POST AND 1521, o o
| HANDRAILS _ ol :
") '{}f
SIZE .
0SGB |~
PROP -
,ﬂ A \ " = - . = — _,:,:'I_I_::_'_‘E‘t,_.._ -

SCAFFOLD BOARDS FOR ACCESS

\ TUF TIE SYSTEM

PRECAST DECK -PARAPET SOLUTION

-
i |
I | |
A
DUAL STEEL BEAM DECK SOLUTION
PRIMARY AND
SECOMDARY [
BEAMS Y
e e — F'-\.'_-__ e— —— r_-_-:_:
= $ !
b b L M S U /
S i\_ N _ T T '-_.;'_-r- - 5 _1_
\ TUF TIE SCAFFOLD CUPLOK SYSTEM
SYSTEM TUBE LACING SCAFFOLDING

lustration Purposes only




TIE EQUIPMENT TUF TIE (THROUGH TIE SYSTEM)

L7 |
L — 804
= WING NUT
HEXAGON NUT
—_—
a‘:? A knockon Wing Nut used in
o conjunction with tie plates for securing fvailable for the 15mm tie bar, Ideal
!' -j'_' the rods in formwork applications, far use where access is restricted.
"L_':j' Wing Muts ara self colour or anti-rust _
%7' finish. Available for hire or sale,
et Available for hire or sale,
———
_wfj Bar size Code N° Weight SWL Bar size Code N°  Waeight SWL
L7 15mm 421839 0.33kg 95.5kN 1Smm 421822 0.23kg 95.5kN
% ;'; 20mm 421865 0.35kg 165kN
i i .
¥ 5 0
W
|_, 110 i
o |
B TUF TIE ROD
JOINT NUT
Continuaus threaded rods,
specifically designed and MKl TIE WASHER Used for the jeining of tie rods.
menufactured for use as formwark : ; Complete with centre stap to ensure
tie rads for all types of concrete Designed with lugs on the base to equal gpacing of bar inside the
| structures, prevant any rotation when ussed with CONMECLOr.
1Smm and 20mm tie rods and SGB MKl Saldiers. T :
accessarias are compalible with all \ . : vailable for hire or sale.
other leading makes Available for hire or sale.
ng ' Bar slze Code N° Weight SWL
y : Bar slze Code N®  Welght SWL 15mm 421823 0O.41kg 95.5kN
Available far hire or sale.
15mm 443020 0.65kg 115kN 20mm 421862 0.43Kg  165kN
Length Code N Welght
15mm diameter
0.75m 421831 1.13kg
1.00m 421826 1.50kg
1.50m 421832  2.25kg
I 2.00m 421828  3.00kg / THHUST: PLATE
3.00m 421830  4.50kg Used with Wing Muts this can be used to clamp
5.70m 421829  9.00kg wall shutters together,
SWL 95,5 kY (2:1 safety factar) !
S Avsilable for hire or zale.
20mm diameter K
0.40m 421869 1.07kg / Bar size Code N° Welght Finish SWL
1.00m 421860 2.68kg o, 100 / ~ 15mm 421850 1.41kg Galvanised 95.5kN
1.50m 421870 4.02kg il 20mm 421856 1.41kg Self colour 95.5kN
&.00m 421871  16.08kg s
SWL 165 kN (2:1 safety factor)

Note: All Tuf Tie SWL's may be limited by other components.




TIE EQUIPMENT

TUF TIE (THROUGH TIE SYSTEM)

SWIVEL THRUST PLATE

This plate is of use whan clamping is
required, for non parrallel faces,

Available far hire or sale.

Subject Lo availability,

Bar size Code N° Weight SWL
15mm 421851 1.30kg 115kN

PLASTIC SLEEVING

Used as a disiance keeper Datween
farm faces, these allow tle rods to
be withdrawn for re-use.

Available in 2 or 3m lengths.

Far sale only,

Bar slze Code N* Welght
15mm 421847 0.E6KE
20mm 421872 0.66kg

L5

SLEEVING CONE

Far use with the Flastic Sleaving
tube to suit either 15mm or 20mm
tie rod.

Far sale only.

Bar size Code N* Welght
15mm 421848 0.01kg
20mm 421867 0.02kg

Tig in the wall.

Faor sale anly,

Bar slze Code N
15mm 421824

Weight
0.65kg

“—£  TUF TIE SHE BOLT

This corverts a through tie

system o form a recoverable
She Bolt System. Leaves a
less expensive amount of Tuf

WATER BARRIER

Cast into the concrete wall between
two tle bars, these allow through tie
systems to be used in water retaining
slructures.

SWL
95.5kN

Far sala only,

Bar size Code N° Weight SWL

15mm = 452520 0.55kg 95.5kN

20mm 452525 0.65kg 165KN
END TIE WASHER

Uzed in conjunction with standard tie rods
and thrust plates these enable two soldiers
to be fived at right angles,

Far sale ar hire.

Bar size Painted Galvanised Weight SWL
Code N* Code N"

15mm 443034 443234 1.60kg GOKN




TIE EQUIPMENT

PLASTIC PLUG

A round tepared Plastic Plugs for
filling redundant tie holes in
plywosd,

Chaase maximum size possible
and hammer in for tight seal,

WELDABLE ANCHOR

Matal anchars which can ba walded
ta RE)'s and other matal structures
to accept 15mm tie rod. Anchors
must be welded cantinuously all the
way round. Load tests should be
canductod before use.

TUF TIE (THROUGH TIE SYSTEM)

ROCK ANCHOR

For securing single sided formwork
o rock or concrete walls. Hole
diameter required 36mm-38mm.
Conduct tensile tests bafors
applying final load.

For sale cnly, Far sale only,
For sale only, |
D shke Cale i* Weignt | | Bar size Code N° Welght
per 1000 . i 1s 452324  0.30k '
20mm 452310  1.85Kg f;;fn‘“ f;;‘;:ﬂ ;"'::]T; et o <Che
22mm 452311 2.37kg ’
26mm 452312  5.00kg |
L A u
1 |_ S
_r__
Q| | |
A
TIE ADAPTER PLASTIC SLEEVING PLUG | | SLEEVING PLUG KEY

For use with SGE's CL25 bracket.
Internzl diameter available =
18/22/25 mm,

Size must be specified,

For szl only,

Hole Code N® Weight
Diameter

18mm 152393 0.30kg
22mm 152394 0.30kg
25mm 152385 0.30kg

A flexible, tight fitting plug far the
internal water zealing afl Plastic
Steeving. Priar to filling with a
recommended grout,

Faor sale enly,

Bar size Code N* Weight
per 1000

15mm 452316 9.50kg

20mm 452317 14.40kg

For securely fixing Plastic Sleeving
Flugs.

For sale only,
Code N* Weight
452318 0.12kg




TIE EQUIPMENT

WILLIAMSFORM SHE BOLT SYSTEM

&/
g/

SHE BOLT

N 1" diameter high
g tensile bofts are used
with ties and clamps.

For sale only.

Length Code N®*  Waight
500mm 450850 1.Tikg
600mm 450860 2.05kg
T00mm 450870 2.39kg

H4 CLAMP

These clamps have a large load
bearing srea and in corporate a
captive nut which makes installation
and dismantling easier and simpler,

For sale only.
Code N* Weight
451003 1.52kg

TIE RODS

Made from
tha highest
quality steel,
thesa rods have
rolled threads to
retain meaximum
strength. Rod lengths
vary from 75mm to im.
Lengths can also be joined
together to tie wider sections,
and each rod has a slight crimp that
locks into the concrete to aliminate
rotation. Diameter = 578",
SWL = 98kN (safety factor 1:5:1)
Safety factors:
1.5:1 Expendable tie
2:1 Reusahble
1.7:1 Against yield if less than failure,

For sale anly.

Lengths available T&mm to 1m in
25mmear 50mm incremsants.

Lengths under 175mm de not have
a crimp in the bar,

COUPLING

Coupling joins two ar more ties where
non standard or extra long ties are
required.

For zala only.
Code N° Welght
452603 0.12kg

/
WATER BARRIER

Made of plastic these barriers simply
slip on to standard ties and are as
effective as a brazed metal plate for a
fraction of the cost. Holes should be
sealed for the best results.

For sale cnly.
Code N* Welght
452503 0.01kg

HIGH TENSILE STUDDING
(CONTINUOQUSLY THREADED ROD)

Mot to be confused with CT rod,
continuously threaded rod is also
available for the customer to then cut
to his specific reguirement.

Available in 3m lengths.

Far sale cnly.

Code No Welght
450503 3.71kg




i T

1 3

e -

e —

TIE EQUIPMENT

WILLIAMSFORM SHE BOLT SYSTEM

PIGTAIL ANCHORS

When castin provides anchorage into
previous concrete pours.

For sale only.

Length  Code N°  Welght
450mm 451345  0.74kg
600mm 451360 0.98

150

"

L ANCHORS

The L anchor is far use with singie
face, climping fermwork or anchaorage
inta kickers, It may also be used as a
heawy duty anchar,

For sale only,

Code N* Welght
451603 0.3Bkg

H4 RATCHET SPANNER

Designed for use with the H4 Clamp,
this spanner aases use,

For sale only.
Code N° Weight
453303 1.93kg

-

(®)

h,

1" SHE BOLT SPANNER

For use with the 17 She Bolt.
For sale only,

Code N° Weight
452403 0.79kg

BGE CLAMP

The most varsatile clamp. This allows
the She Belt to he passed through at
an angle of up 1o 457 either side of
the centre line. Used in conjunction
with Wing Nuts,

For sale only,

Code N" Welght
451010 1.03kg

WS5A WING NUT

For use with the BSE Clamp,

For sale only.
Code N° Weight
453203 0.33kg




L ——— e ——— = — —— —_—— e ——— ——— —_——————— ———— —ET =
o e — &

CL 25 HEAVY DUTY CANTILEVER FRAME

With a safe working load of up to
25 kN, the CL25 bracket can
provide safe access and formwork
support for lifted pours. It also
simplifies the process of fixing
soffit edge formwork.

Supported from an existing tie
point or cast-in anchaor, the
triangulated design of the frame
allows simple installation and
reduces the risk of damage to the
concrete finish.

Complete assemblies can be pre-
fabricated on the ground and lifted
into place to support both
personnel and formwork. With
decking, toe boards and hand

. rails, a secure working area can
Y be provided.

TYPICAL SLAB EDGE DETAIL

_EI y

LT
//r

I
LI 308

FEATURES
* Maximum Safe Working Load of 25kN (2.5 tonnes)
= Single fixing point to concrete
* Can accommodate trailing work platform
- « Can be supported from tie fixing point
| 7~ = Provides safe working deck at any helght
| V * Maximum 2.4m horizontal spacing
7 « Continuous deck passible around outside corners
* Can be prefabricated at ground level

—

FIXING

Brackets are normally fixed to an existing cast-in tie
\ point. Recoverable anchor screws can also be used.
{ Minimum concrete strength for all applications is

b 21 N/mm.

|
n

FIXING OPTIONS

STEEL SECTIONS

Bolt Through Steel Girder Web

ANCHOR SCREW T _-L' . Tie
R e Adaptar

Cast-in Anchor

:_:@.0-0,01r[:‘>.<?:<-)1{5ﬁ0 i e -

SGE SHE BOLT TIE

Short 17 dia. She-Bait
Reinstated inte She-Bolt Cavity




s

i REQUIREMENTS CAN NOW RUN STRAIGHT

ESTIMATING SOFTWARE

Magnaform large panel system MKIl Soldier system Aleminium Shoring system

THE WORKOUT DISK

The “Workout Disk” allows customers to
produce their own Formwork and Falsework
designs using the complete range of SGB
Formwaork’'s products.

Designed by formwork engineers for
formwork engineers, using expertise gained
on some of the World's largest and most
complex projects, the Workout Disk cuts right
through the strain spent on designing
temporary works.

Time spent on manual calculations can now
ke more profitably applied.

Using the formwork Workout Disk, different
solutions and options can be quickly
explored and itemised equipment listings
produced,

The Simple Question and Answer format
gives you quick and easy access to different
Formwork and Falsework options plus
regularly updated full costing information on
equipment for hire or sale.

The Workout Disk leads the user through the
design process enabling you to produce an
equipment listing perfectly tailored to your
formwork needs.

Contact your local SGB Formwork branch for

l a “Workout” demonstration.

IBEM PC or compatible with either 386 or 486 based processor,

{a maths co-processor is not essential, but is recommended), FROM WI N Dows 3 .1 a“d

Video Graphlcs Array (VGA), MSDOS 3.0 or later, Epson or
Hewlett Packard Desklet or Laserlet r|:|:|m|:|a't'1i;|\|rar printer. Wl N Dows 95

\ EE THE Nol FORMWORK ESTIMA




e T e

L

g

= '

R YT ==

i

Cuplok support

In only the first few months from
issue the SGB Workout Disk was
adopted by well over a thousand
individuals making it the most
popular Formwork Estimating
Software on the market.

The Workout Disk also includes
regularly updated information,
with detailed hire and sale costs
to help you stay abreast of
product and industry
developments.

Using the Workout Disk you may
fully explore the economic as well
as the technical options with just
a few simple key strokes. Printed
out, your completed calculations
provide a detailed specification
and budget.

Detailed loadings
analysis

=i

i

&;in :

Metriform small panel system

The Workout Disk Provides:

Detailed Loadings and
Calculation Analysis:

Sufficient detail for Contractors or
Engineers, and ideal far
retrospective submission
calculations.

Sketch / Information Sheet:
A succinct construction guide.

Full Component Listings:
Providing order details and a
ready check of what equipment is
required Tor delivery.

Full Breakdown of Costs:
Enables rapid cost comparisons
of different falsework and
formwork configurations and
helps identify the most economic
solution. Will even provide and
amend whemne applicable, any
piywood or imber prices you may
I'E‘Q'....Irc,

provides a full breakdown

ESTIMATING SOFTWARE

Cuplok access scaffolding

Full component listings

The Workout Disk

of equipment cosis

NG SOFTWARE ON THE MARKET é



|SGH|
UsA
SGE CONSTRUCTION
SERVICES, INC
14942 Talocott, Houston,
Texas 77015 USA
Tel: 1 281 4521600
Fax: 1 281 4525330

SGB]

SGE LATIN AMERICA
Awda, Americo Vespuico B0
Las Condes Santiago Chile

Tel: 56 2 207 5327

Fax: 56 2 207 4244

SPECIAL FABRICATION

Nd:] International

CUPLOR

Tel 44 (0) 1932 TBETE6 Fax: 44 (D) 1932 783526

WORLD-WIDE REGIONAL OFFICES

|SGH

SAUDI ARABIA
SGE BARDOM
PO Box 1346 leddah
Saudi Arabia
Tel: 966 2 GE02TE4
Fax: D86 2 BEE4E10

[SGE|

SGE DABAL
PO Box 1102
Dammam 31431
Saudi Arabia
Tel: 966 3 8273218
Fax: 986 3 8267466

SGE
UNITED ARAB EMIRATES
QUEBEIS! SGB
Po Box 5682 Sharjah
United Arab Emirates
Tel: 971 6 330211
Fax: 971 6 330863

HH: International

WEBSITE
For Lecal information
wivw, SGE.net

R
b R

HONG KONG
SGB FAR EAST LTD
16/F Shun Kwong
Commercial Building
3 Des Vouex Road West,
Sheung Wan, Hong Kong
Tel: 852 2 BTTO08
Fax: 852 2 B577226

SGE BRAC PTELTD
23-C Sungei Kadut Strest-1,
Singapore 729326
Tel: 65 365 6122
Fax: G2 365 6022

{0ffices in Malaysia and Indonesia)

Dolphin House, Windmill Read, Sunbury on Thames, Middlesex TW1E THT, England

|SGHE

PORTUGAL
TREMNCI SGB
Almeda de Linhas
[e Tarres 61-7
17040 Lishon
Tel: 351 17576641
Fax: 351 17599080

SGE|

CZECH REPUBLIC
SGE KOVOMA 4.5
Doupovska 1043
Prague 10- Hozik
Czech Republic

Tel; 420 2 7922488
Fan; 420 2 7922566



